Fig. 4-25 Ti

50Y/50Z 1700°C/10min
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(a)

COMPO 150KV HE00 10pm

W 9.8mm

(b) Layer

Content of Element, at%

Ti Y Zr (6]
F Rk | 1 85.88) L. 0.07 14.05
ok 2 7001 7.99 21.90
3 SREHAETYA B 2.27 17.44
4 =Brade Bl MR B 1394 18.68
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Fig. 4-26 (a) Ti £ 50Y/50Z ' #4CF M i 4% ) 2 B 1
(BEI); (b) WDS % & 4 4% 5 () M 44 38 4 | (SEI,

# % & Kroll reagent 4 ) -
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8116 28 8KV

8119 20.0KV ne, 000
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118 28.0KV X2,000 18Mn 8120 20.0KV X2,000 18¢n

Fig. 4-27 (a) Ti  50Y/50Z i1l BEI ;(b) (e)
Ti Y Zr O X-ray mapping
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10pim WD 9. 8mm

(b)

COMPO  15.0KY  X5.000 WD 9.2mm

0,
(C) Layer - Co\r(nent of EIement,;:/o s
sk 1 0.49 40.73 0.57 58.21
2 86.20 - 6.50 7.30
3 78.48 - 13.17 8.37
4 0.25 38.33 2.25 59.17
5 65.72 - 13.41 20.87

Fig. 4-28 (a)Ti & 50Y/50Z f%3 M 4cF Muts & Mok 111 2 poiLis 4
® (BEI): (b)} BliTéx Rl & %2+ B (BEl); (c)WDS Z_& 4
j -
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28.0KV  #2,000 10Vn BB 0130 20.0KV  X2,000  i@va

Fig.4-29 (a) Ti  50Y/50Z i BEI ;(b) (e)
Ti Y Zr O X-ray mapping
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(a)

NCTU COMPO  15.0kV

(b)

COMPO 150KV X10,000 Tpom WD 9.2mm

(C) Layer — Cantent of Element, ;:% s
R IV 1 2.58 34.55 497 57.90
2 66.95 - 24.76 8.29
3 0.85 37.03 5.25 56.87
FREREV 4 - 25.32 15.64 59.04
5 - 20.63 16.79 62.58
6 - - 79.65 20.35

Fig. 4-30 (a) Ti & 50Y/50Z '3 #¥cF s F &R IV~ V 2 fioi
F1 @B (BEI): (b)#5#k 47 52 Kt § 5 (CQWDS T & 4 47 -
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(d)

COMPO 150KV  X5000  1gm WD 92mm

. 3 = C-Ohtentdf.EIement, at%
(e) Layer =AY Zr 0
IRV 7 - = w5 80.89 19.11

1 =
| -

Fig. 4-30 (d)F & V2 b 3035 ] (BED) ; ()WDS % £ A 17 -

o ne
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Fig. 4-31 (a) Ti 2 50Y/50Z fb’3 #h4cF R is F sk V 2 09 B 4L (BFI); (D) ¥ +
42 EDS A 45 % 3¥ ; (c)SADP, Z.A.=[111] ; (d) SADP, Z.A.=[112] -
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Fig. 4-32 () Ti  50Y/50Z IV BFI  (b)
EDS (C)SADP, Z.A.=[111] (d) SADP, Z.A.=[131]
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